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Note / ŸÊ≈U —
(i) Please check that this question paper contains 19 printed pages.

∑Î§¬ÿÊ ¡Ê°ø ∑§⁄U ‹¥ Á∑§ ß‚ ¬˝‡Ÿ-¬òÊ ◊¥  19 ◊ÈÁŒ˝Ã ¬Îc∆U „Ò¥–
(ii) Code number given on the right hand side of the question paper should be written on the title

page of the answer-book by the candidate.

¬˝‡Ÿ-¬òÊ ◊¥ ŒÊÁ„Ÿ „ÊÕ ∑§Ë •Ê⁄U ÁŒ∞ ª∞ ∑§Ê«U Ÿê’⁄U ∑§Ê ¿UÊòÊ ©ûÊ⁄U-¬ÈÁSÃ∑§Ê ∑§ ◊Èπ-¬Îc∆U ¬⁄U Á‹π¥–
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(vi) This question paper comprises of six sections - Section - A, Section - B, Section - C,
Section - D, Section - E and Section - F.  All questions are compulsory.

¬˝‡Ÿ-¬òÊ ∑§Ê ¿U— πá«UÊ¥ ◊¥ Áfl÷ÊÁ¡Ã Á∑§ÿÊ ªÿÊ „Ò - πá«U-∑§, πá«U-π, πá«U-ª, πá«U-ÉÊ,πá«U-æ§
∞fl¥  πá«U-ø–  ‚÷Ë ¬˝‡Ÿ •ÁŸflÊÿ¸ „Ò¥–

(vii) Section A - Question No. 1 to 20 are Multiple choice questions, carrying 1 mark each.

π¥«U - ∑§ ◊¥ ¬˝‡Ÿ ‚¥ÅÿÊ 1 ‚ 20 Ã∑§ ’„ÈÁfl∑§À¬Ëÿ ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥, ¬˝àÿ∑§ ¬˝‡Ÿ 1 •¥∑§ ∑§Ê „Ò–
(viii) Section B - Question No. 21 to 24 are very short answer type questions, carrying 2 marks

each.  Answer to these questions should not exceed 40 words.

π¥«U - π ◊¥ ¬˝‡Ÿ ‚¥ÅÿÊ 21 ‚ 24 Ã∑§ •ÁÃ ‹ÉÊÍûÊ⁄UËÿ ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥, ¬˝àÿ∑§ ¬˝‡Ÿ 2 •¥∑§ ∑§Ê „Ò–  ¬˝àÿ∑§
¬˝‡Ÿ ∑§Ê ©ûÊ⁄U 40 ‡ÊéŒÊ¥ ‚ •Áœ∑§ Ÿ„Ë¥ „ÊŸÊ øÊÁ„∞–

(ix) Section C - Question No. 25 to 29 are short answer type questions, carrying 3 marks each.
Answer to these questions should not exceed 60 words.

π¥«U - ª ◊¥ ¬˝‡Ÿ ‚¥ÅÿÊ 25 ‚ 29 Ã∑§ ‹ÉÊÈ©ûÊ⁄UËÿ ¬˝∑§Ê⁄U ∑§ ¬˝‡Ÿ „Ò¥, ¬˝àÿ∑§ ¬˝‡Ÿ 3 •¥∑§ ∑§Ê „Ò–  ¬˝àÿ∑§ ¬˝‡Ÿ
∑§Ê ©ûÊ⁄U 60 ‡ÊéŒÊ¥ ‚ •Áœ∑§ Ÿ„Ë¥ „ÊŸÊ øÊÁ„∞–

(x) Section D - Question No. 30 to 33 are long answer type questions, carrying 5 marks each.
Answer to these questions should not exceed 120 words.

π¥«U  - ÉÊ  ◊¥ ¬˝‡Ÿ ‚¥ÅÿÊ  30 ‚ 33 Ã∑§ ŒËÉÊ¸©ûÊ⁄UËÿ ¬˝‡Ÿ „Ò¥, ¬˝àÿ∑§ ¬˝‡Ÿ 5 •¥∑§ ∑§Ê „Ò–  ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©ûÊ⁄U
120 ‡ÊéŒÊ¥ ‚ •Áœ∑§ Ÿ„Ë¥ „ÊŸÊ øÊÁ„∞–

(xi) Section E - Question No. 34 to 36 are case based questions with three sub-questions and are
of 4 marks each.

π¥«U-æ§ ◊¥ ¬˝‡Ÿ ‚¥ÅÿÊ 34 ‚ 36 Ã∑§ dÊÃ •ÊœÊÁ⁄UÃ ¬˝‡Ÿ „Ò¥ Á¡Ÿ◊¥ ÃËŸ ©¬-¬˝‡Ÿ „Ò¥ •ÊÒ⁄U ¬˝àÿ∑§ ¬˝‡Ÿ 4 •¥∑§
∑§Ê „Ò–

(xii) Section F : Question No. 37 is Map Skill Based Question carrying 5 marks with parts (A)
from History (2 marks) and (B) from Geography (3 marks)

π¥«U - ø ◊¥ ¬˝‡Ÿ ‚¥ÅÿÊ 37 ◊ÊŸÁøòÊ ∑§ÊÒ‡Ê‹ ¬⁄U •ÊœÊÁ⁄UÃ „Ò, ÿ„ ¬˝‡Ÿ 5 •¥∑§ ∑§Ê „Ò ¡Ê Á∑§ ßÁÃ„Ê‚ ‚ ÷Êª
(A) (2 •¥∑§) ÃÕÊ ÷ÍªÊ‹ ‚ ÷Êª (B) (3 •¥∑§) ‚ ‚ê’ÁãœÃ „Ò–

(xiii) Answer should be in brief and to the point and also, the above word-limit should be adhered
to, as far as possible.

©ûÊ⁄U ‚¥ÁˇÊåÃ ÃÕÊ Á’ãŒÈflÊ⁄U „ÊŸÊ øÊÁ„∞ •ÊÒ⁄U ‚ÊÕ „Ë ©¬⁄UÊÄÃ ‡ÊéŒ-‚Ë◊Ê ∑§Ê ÿÕÊ‚¥÷fl ¬Ê‹Ÿ ∑§ËÁ¡∞–
(xiv) There is no overall choice in the question paper.  However, an internal choice has been provided

in some questions.  Only one of the choices in such questions has to be attempted.

¬˝‡Ÿ-¬òÊ ◊¥ ‚◊ª˝ ¬⁄U ∑§Êß¸ Áfl∑§À¬ Ÿ„Ë¥ „Ò–  ÃÕÊÁ¬ ∑È§¿U ¬˝‡ŸÊ¥ ◊¥ •Ê¥ÃÁ⁄U∑§ Áfl∑§À¬ ÁŒ∞ ª∞ „Ò¥–  ∞‚ ¬˝‡ŸÊ¥ ◊¥
∑§fl‹ ∞∑§ „Ë Áfl∑§À¬ ∑§Ê ©ûÊ⁄U Á‹Áπ∞–

(xv) Cut the Map from your question paper and attach it with your answer book.

¬˝‡Ÿ-¬òÊ ∑§ •¥Ã ◊¥ ÁŒ∞ ª∞ ◊ÊŸÁøòÊ ∑§Ê ∑§Ê≈U ∑§⁄U •¬ŸË ©ûÊ⁄U ¬ÈÁSÃ∑§Ê ∑§ ‚ÊÕ ‚¥‹ÇŸ ∑§⁄¥U–
(xvi) In addition to this, separate instructions are given with each section and question, wherever

necessary.

ß‚∑§ •ÁÃÁ⁄UÄàÊ, •Êfl‡ÿ∑§ÃÊŸÈ‚Ê⁄U, ¬˝àÿ∑§ π¥«U •ÊÒ⁄U ¬˝‡Ÿ ∑§ ‚ÊÕ ÿÕÊÁøÃ ÁŸŒ¸‡Ê ÁŒ∞ ª∞ „Ò¥–
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SECTION - A / πá«U - ∑§
MULTIPLE CHOICE QUESTIONS / ’„È Áfl∑§À¬Ëÿ ¬˝‡Ÿ

1. Who among the following had sought to put together a coherent programme for a
Unitary Italian  Republic during 1830's ?

(a) Victor Emmanuel I (b) Victor Emmanuel II

(c) Guiseppe Mazzini (d) Count Cavour

1830 ∑§ Œ‡Ê∑§ ◊¥ ßŸ◊¥ ‚ Á∑§‚Ÿ ∞∑§Ë∑Î§Ã ßÃÊ‹flË ªáÊ⁄Êíÿ ∑§ Á‹∞ ∞∑§ ‚ÈÁfløÊÁ⁄UÃ ∑§Êÿ¸∑˝§◊ ¬˝SÃÈÃ
∑§⁄UŸ ∑§Ë ∑§ÊÁ‡Ê‡Ê ∑§Ë ÕË?
(a) ÁflÄ≈U⁄U ß◊ŸÈ∞‹- I (b) ÁflÄ≈U⁄U ß◊ŸÈ∞‹- II

(c) íÿÈ‚¬ ◊Áà‚ŸË (d) ∑§Ê™§¥≈U ∑§ÊflÍ⁄U

2. Match the important years from Column A with related events of Indian freedom
movement given in Column B.  Choose the correct answer from the options given
below.

Column A Column B

(A) 1918 (i) Simon Commission arrived in India

(B) 1922 (ii) First Independence Day

(C) 1928 (iii) Satyagrah for Cotton mill workers

(D) 1930 (iv) Non-Cooperation movement was called off.

Options :

(a) (A)-(iv) (B)-(i) (C)-(iii) (D)-(ii)

(b) (A)-(iii) (B)-(iv) (C)-(i) (D)-(ii)

(c) (A)-(i) (B)-(ii) (C)-(iii) (D)-(iv)

(d) (A)-(ii) (B)-(iii) (C)-(iv) (D)-(i)

∑§ÊÚ‹◊ A◊¥ ÁŒ∞ ª∞ ◊„àfl¬ÍáÊ¸ fl·Ê¸ ∑§Ê ∑§ÊÚ‹◊ B ◊¥ ÁŒ∞ ª∞ ÷Ê⁄UÃËÿ SflÃ¥òÊÃÊ ‚¥ª˝Ê◊ ‚ ‚¥’¥ÁœÃ
ÉÊ≈UŸÊ•Ê¥ ∑§Ê Á◊‹ÊŸ ∑§ËÁ¡∞ ∞fl¥ ÁŒ∞ ª∞ Áfl∑§À¬Ê¥ ◊¥ ‚ ‚„Ë ©ûÊ⁄U ∑§Ê øÈÁŸ∞–

∑§ÊÚ‹◊ A ∑§ÊÚ‹◊ B
(A) 1918 (i) ‚Êß◊Ÿ ∑§◊Ë‡ÊŸ ÷Ê⁄UÃ •ÊÿÊ–
(B) 1922 (ii) ¬„‹Ê SflÃ¥òÊÃÊ ÁŒfl‚–
(C) 1928 (iii) ‚ÍÃË Á◊‹ ◊¡ŒÍ⁄UÊ¥ ∑§ Á‹∞ ‚àÿÊª˝„–
(D) 1930 (iv) •‚„ÿÊª •Ê¥ŒÊ‹Ÿ ’¥Œ ∑§⁄U ÁŒÿÊ ªÿÊ–
Áfl∑§À¬ —
(a) (A)-(iv) (B)-(i) (C)-(iii) (D)-(ii)

(b) (A)-(iii) (B)-(iv) (C)-(i) (D)-(ii)

(c) (A)-(i) (B)-(ii) (C)-(iii) (D)-(iv)

(d) (A)-(ii) (B)-(iii) (C)-(iv) (D)-(i)

1x20=20

1

1
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3. Which of the following aspect signifies the image given below ?

(a) Defeat and humiliation of the French under Napoleon.

(b) The sleeping beauty signified by Britannia.

(c) The fallen Germania.

(d) Threatened and defied Italy.

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ¬„‹Í ŸËø ŒË ªß¸ ¿UÁfl ∑§Ê Œ‡ÊÊ¸ÃÊ „Ò?

(a) Ÿ¬ÊÁ‹ÿŸ ∑§ •œËŸ »˝§Ê¥‚ËÁ‚ÿÊ¥ ∑§Ë ¬⁄UÊ¡ÿ •ÊÒ⁄U •¬◊ÊŸ

(b) Á’˝≈UÊÁŸÿÊ mÊ⁄UÊ ÁŸM§Á¬Ã S‹ËÁ¬¥ª éÿÍ≈UË

(c) „ÃÊ‡Ê ¡◊¸ÁŸÿÊ

(d) ß≈U‹Ë ∑§Ê œ◊∑§ÊÿÊ •ÊÒ⁄U ‹‹∑§Ê⁄U

1
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Note : The following question is for visually impaired candidates only in lieu
of Q. No. 3

Where did the representatives of Europeon powers - Russia, Britain, Prussia and
Austria - Who had collectively defeated Napoleon, met in 1815 to draw up a
settlement for Europe ?

(a) Paris (b) London (c) Vienna (d) Leningrad

ŸÊ≈ U— ÁŸêŸÁ‹ÁπÃ ¬˝‡Ÿ ∑§fl‹ ¬˝‡Ÿ ‚¥ÅÿÊ 3 ∑§ SÕÊŸ ¬⁄U ŒÎÁC’ÊÁœÃ ÁfllÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ „Ò–

Á’˝≈UŸ, M§‚, ¬ÎÁ‚ÿÊ •ÊÒ⁄U •ÊÚÁS≈˛UÿÊ ¡Ò‚Ë ÿÍ⁄UÊ¬Ëÿ ‡ÊÁÄàÊÿÊ° Á¡ã„Ê¥Ÿ Á◊‹∑§⁄U Ÿ¬ÊÁ‹ÿŸ ∑§Ê „⁄UÊÿÊ ÕÊ - ∑§
¬˝ÁÃÁŸÁœ ÿÍ⁄UÊ¬ ∑§ Á‹∞ ∞∑§ ‚◊¤ÊÊÒÃÊ ÃÒÿÊ⁄U ∑§⁄UŸ ∑§ Á‹∞  1815 ◊¥ ∑§„Ê° Á◊‹?

(a) ¬Á⁄U‚ (b) ‹¥ŒUUŸ (c) ÁflÿãŸÊ (d) ‹ÁŸŸª˝ÊŒU

4. Which one of the following was the oldest Japanese Book printed in 868 AD?

(a) Bible (b) Diamond Sutra

(c) Kokoro (d) Kojiki

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ 868 ß¸.◊¥ ¿U¬Ë ¡Ê¬ÊŸ ∑§Ë ‚’‚ ¬È⁄UÊŸË ¬ÈSÃ∑§ ∑§ÊÒŸ ‚Ë ÕË?

(a) ’Êß’‹ (b) «UÊÿ◊¥«U ‚ÍòÊ

(c) ∑§Ê∑§Ê⁄UÊ (d) ∑§Ê¡Ë∑§Ë

5. Why is there an enormous pressure on agricultural land in India ? Choose the
correct option-

(a) Land holding size is very small.

(b) Low density of population.

(c) Small scale farmers do not have technology to have a lot of produce.

(d) Farmers are not interested in using new techniques of farming.

÷Ê⁄UÃ ◊¥ ∑Î§Á· ÷ÍÁ◊ ¬⁄U ÷Ê⁄UË Œ’Êfl ÄÿÊ¥ „Ò? ‚„Ë Áfl∑§À¬ øÈŸ-

(a) ÷ÍÁ◊ ¡ÊÃ ∑§Ê •Ê∑§Ê⁄U ’„ÈÃ ¿UÊ≈UÊ „Ò–

(b) ¡Ÿ‚¥ÅÿÊ ∑§Ê ÁŸêŸ ÉÊŸàfl–

(c) ¿UÊ≈U SÃ⁄U ∑§ Á∑§‚ÊŸÊ¥ ∑§ ¬Ê‚ •Áœ∑§ ©¬¡ ¬ÒŒÊ ∑§⁄UŸ ∑§Ë Ã∑§ŸË∑§ Ÿ„Ë¥ „Ò–

(d) Á∑§‚ÊŸ πÃË ∑§Ë Ÿß¸ Ã∑§ŸË∑§ •¬ŸÊŸ ◊¥ M§Áø Ÿ„Ë¥ ‹Ã „¥Ò–

1

1
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6. Identify the crop with the help of following features :

• It is a Tropical as well as Subtropical crop.

• It grows well in hot and humid climate.

• Temperature required is 218C to 278C.

• Need annual rainfall between 75 cm - 100 cm.

(a) Pulses (b) Sugarcane

(c) Oilseeds (d) Coffee

ÁŸêŸÁ‹ÁπÃ Áfl‡Ê·ÃÊ•Ê¥ ∑§Ë ‚„ÊÿÃÊ ‚ »§‚‹ ∑§Ë ¬„øÊŸ ∑§⁄U¥-

• ÿ„ ∞∑§ ©cáÊ •ÊÒ⁄U ©¬ÊcáÊ ∑§Á≈U’¥œËÿ »§‚‹ „Ò–

• ÿ„ ©cáÊ •ÊÒ⁄U •ÊŒ˝¸ ¡‹flÊÿÈ ◊¥ ’Êß¸ ¡ÊÃË „Ò–

• •Êfl‡ÿ∑§ ÃÊ¬◊ÊŸ 218C ‚ 278C „Ò–

• •Êfl‡ÿ∑§ flÊÁ·¸∑§ fl·Ê¸  75 cm - 100 cm „Ò–

(a) ŒÊ‹¥ (b) ªãŸÊ

(c) ÁÃ‹„Ÿ (d) ∑§ÊÚ$»§Ë

7. Which of the following is not a cause of land degradation ? 1

(a) Overgrazing (b) Afforestation

(c) Mining (d) Over irrigation

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ÷ÍÁ◊ ÁŸêŸË∑§⁄UáÊ ∑§Ê ∞∑§ ∑§Ê⁄UáÊ Ÿ„Ë¥ „Ò?

(a) •ÁÃøÊ⁄UáÊ (b) flÎˇÊÊ⁄UÊ¬áÊ

(c) πŸŸ (d) •ÁÃÁ‚¥øÊß¸

8. Which of the following statement is CORRECT with regard to Unitary form of
government ?

(a) There are two or more levels of government.

(b) Different tiers of government govern the same citizens.

(c) Each tier of government has its own jurisdiction.

(d) The sub units are subordinate to the central government.

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∑§ÕŸ ∞∑§Êà◊∑§ ‚⁄U∑§Ê⁄U ∑§ Á‹∞ ‚„Ë „Ò¥?

(a) ‚⁄U∑§Ê⁄U ∑§ ŒÊ ÿÊ ŒÊ ‚ •Áœ∑§ SÃ⁄U „Ò¥–

(b) ‚⁄U∑§Ê⁄U ∑§ ÁflÁ÷ÛÊ SÃ⁄U ∞∑§ „Ë ŸÊªÁ⁄U∑§ ¬⁄U ‡ÊÊ‚Ÿ ∑§⁄UÃ „Ò–

(c) ‚⁄U∑§Ê⁄U ∑§ ¬˝àÿ∑§ SÃ⁄U ∑§Ê •¬ŸÊ •Áœ∑§Ê⁄U ˇÊòÊ „Ò–

(d) ©¬-ß∑§ÊßÿÊ° ∑§ãŒ˝ ‚⁄U∑§Ê⁄U ∑§ •œËŸ „Ò¥–

1

1
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9. Identify the primary objective of power sharing arrangements in Belgium from
the following options.
(a) Establishing a Unitary form of government.
(b) Centralized political control of government.
(c) Establishing cultural and educational matter of Dutch.
(d) Accomodating linguistic and regional interest.

ÁŸêŸÁ‹ÁπÃ Áfl∑§À¬Ê¥ ◊¥ ‚ ’ÁÀ¡ÿ◊ ◊¥ ‚ûÊÊ ‚Ê¤ÊŒÊ⁄UË √ÿflSÕÊ ∑§ ¬˝Ê⁄¥UÁ÷∑§ ©g‡ÿ ∑§Ë ¬„øÊŸ ∑§ËÁ¡∞-
(a) ‚⁄U∑§Ê⁄U ∑§Ê ∞∑§Êà◊∑§ SflM§¬ SÕÊÁ¬Ã ∑§⁄UŸÊ
(b) ‚⁄U∑§Ê⁄U ∑§Ê ∑§¥Œ˝Ë∑Î§Ã ⁄UÊ¡ŸËÁÃ∑§ ÁŸÿ¥òÊáÊ
(c) «UøÊ¥ ∑§ ‚Ê¥S∑Î§ÁÃ∑§ •ÊÒ⁄U ‡ÊÒÁˇÊ∑§ ◊Ê◊‹Ê¥ ∑§Ë SÕÊ¬ŸÊ
(d) ÷Ê·ÊÿË •ÊÒ⁄U ˇÊòÊËÿ Á„ÃÊ¥ ∑§Ê ‚◊ÊÿÊÁ¡Ã ∑§⁄UŸÊ

10. In context of democracy which of the following idea is correct ?
Democracies have successfully eliminated -
(a) Conflict among people
(b) economic inequalities among people.
(c) differences of opinion about how marginalised section has to be treated.
(d) the idea of political inequality.

‹Ê∑§Ã¥òÊ ∑§ ‚¥Œ÷¸ ◊¥ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ÁfløÊ⁄U ‚„Ë „Ò?
‹Ê∑§Ã¥òÊ Ÿ ‚»§‹ÃÊ¬Ífl¸∑§ ‚◊Ê# ∑§⁄U ÁŒÿÊ „Ò -
(a) ‹ÊªÊ¥ ∑§ ’Ëø ∑§ ‚¥ÉÊ·¸ ∑§Ê–
(b) ‹ÊªÊ¥ ∑§ ’Ëø •ÊÁÕ¸∑§ •‚◊ÊŸÃÊ ∑§Ê–
(c) „ÊÁ‡Ê∞ ¬⁄U ¬«∏ flªÊZ ∑§ ‚ÊÕ Á∑§∞ ¡ÊŸ flÊ‹ √ÿfl„Ê⁄U ◊¥ ◊Ã÷ŒÊ¥ ∑§Ê–
(d) ⁄UÊ¡ŸËÁÃ∑§ •‚◊ÊŸÃÊ ∑§ ÁfløÊ⁄U ∑§Ê–

11. Which of the following is a part of local self government in India ? Choose the
correct option.
(i) Municipality (ii) Gram Panchayat
(iii) Panchayat Samiti (iv) Legislative Assembly
Options :
(a) only (i) and (ii) (b) only (ii) and (iv)
(c) only (i),(ii) and (iii) (d) only (ii), (iii) and (iv)

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ÷Ê⁄UÃ ◊¥ SÕÊŸËÿ Sfl‡ÊÊ‚Ÿ ∑§Ê ∑§ÊÒŸ ‚Ê ∞∑§ Á„S‚Ê „Ò? ‚„Ë Áfl∑§À¬ øÈÁŸ∞–
(i) Ÿª⁄U¬ÊÁ‹∑§Ê (ii) ª˝Ê◊ - ¬¥øÊÿÃ
(iii) ¬¥øÊÿÃ ‚Á◊ÃË (iv) ÁflœÊŸ ‚÷Ê
Áfl∑§À¬ —
(a) ∑§fl‹ (i) •ÊÒ⁄U (ii) (b) ∑§fl‹ (ii) •ÊÒ⁄U (iv)

(c) ∑§fl‹ (i), (ii) •ÊÒ⁄U (iii) (d) ∑§fl‹ (ii), (iii) •ÊÒ⁄U (iv)

1
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12. If a government provides its citizens a right and means to examine the process of
decision, it is _________.
(a) an unaccountable government
(b) a irresponsible government
(c) a stable government
(d) a transparent government

ÿÁŒ ∑§Êß¸ ‚⁄U∑§Ê⁄U •¬Ÿ ŸÊªÁ⁄U∑§Ê¥ ∑§Ê ÁŸáÊ¸ÿ ∑§Ë ¬˝Á∑˝§ÿÊ ∑§Ë ¡Ê°ø ∑§⁄UŸ ∑§Ê •Áœ∑§Ê⁄U •ÊÒ⁄U ‚ÊœŸ ¬˝ŒÊŸ
∑§⁄UÃË „Ò, fl„ „Ò _________–
(a) ∞∑§ ªÒ⁄U ©ûÊ⁄UŒÊÿË ‚⁄U∑§Ê⁄U
(b) ∞∑§ ªÒ⁄U Á¡ê◊ŒÊ⁄U ‚⁄U∑§Ê⁄U
(c) ∞∑§ ÁSÕ⁄U ‚⁄U∑§Ê⁄U
(d) ∞∑§ ¬Ê⁄UŒ‡ÊË¸ ‚⁄U∑§Ê⁄U

13. Two statements are marked as Assertion (A) and Reason(R).  Read the statements
and choose the answer from the option given below-
Assertion (A) :
It is mandatory for every candidate who contests election to file an affidavit
regarding property and criminal cases pending against him.
Reason (R) :
It makes the voters more informed.
Codes :
(a) Both (A) and (R) are true and (R) is the correct explaination of (A).
(b) Both (A) and (R) are True and (R) is not the correct explaination of (A).
(c) (A) is True but (R) is False
(d) (A) is False but (R) is True

ŸËø ŒÊ ∑§ÕŸ •Á÷∑§ÕŸ (A) ∞fl¥ ∑§Ê⁄UáÊ (R) ∑§ M§¬ ◊¥ ÁøÁqÃ „Ò¥–  ∑§ÕŸÊ¥ ∑§Ê ¬Á…∏∞ ∞fl¥ ŸËø ÁŒ∞
ª∞ Áfl∑§À¬Ê¥ ◊¥ ‚ ‚„Ë ©ûÊ⁄U ∑§Ê øÈÁŸ∞ -
•Á÷∑§ÕŸ (A) —
øÈŸÊfl ‹«∏UŸ flÊ‹ ¬˝àÿ∑§ ©ê◊ËŒflÊ⁄U ∑§ Á‹∞ ‚¥¬ÁûÊ •ÊÒ⁄U •Ê¬⁄UÊÁœ∑§ ◊Ê◊‹Ê¥ ‚ ‚¥’¥ÁœÃ ‡Ê¬Õ ¬òÊ ŒÊÿ⁄U
∑§⁄UŸÊ •ÁŸflÊÿ¸ „Ò–
∑§Ê⁄UáÊ (R) —
ÿ„ ◊ÃŒÊÃÊ•Ê¥ ∑§Ê •Áœ∑§ ¡ÊªM§∑§ ’ŸÊÃÊ „Ò–
∑§Ê«U —
(a) •Á÷∑§ÕŸ (A) •ÊÒ⁄U ∑§Ê⁄UáÊ (R) ŒÊŸÊ¥ ‚àÿ „Ò •ÊÒ⁄U ∑§Ê⁄UáÊ (R) •Á÷∑§ÕŸ (A) ∑§Ë ‚„Ë √ÿÊÅÿÊ „Ò–
(b) •Ë÷∑§ÕŸ (A) •ÊÒ⁄U ∑§Ê⁄UáÊ (R) ŒÊŸÊ¥ ‚àÿ „Ò ¬⁄UãÃÈ ∑§Ê⁄UáÊ (R) •Á÷∑§ÕŸ (A) ∑§Ë ‚„Ë √ÿÊÅÿÊ

Ÿ„Ë¥ „Ò–
(c) •Á÷∑§ÕŸ (A) ‚àÿ „Ò ¬⁄UãÃÈ ∑§Ê⁄UáÊ (R) •‚àÿ „Ò–
(d) •Á÷∑§ÕŸ (A) •‚àÿ „Ò ¬⁄UãÃÈ ∑§Ê⁄UáÊ (R) ‚àÿ „Ò–

1
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14. Identify the correctly matched pair.

(a) Union list - Banking

(b) Union list - Agriculture

(c) Union list - Trade

(d) Union list - Adoption

‚„Ë ‚È◊Á‹Ã ÿÈÇ◊ ∑§Ë ¬„øÊŸ ∑§ËÁ¡∞–

(a) ‚¥ÉÊ ‚ÍøË - ’Ò¥Á∑¥§ª

(b) ‚¥ÉÊ ‚ÍøË - ∑Î§Á·

(c) ‚¥ÉÊ ‚ÍøË - √ÿÊ¬Ê⁄U

(d) ‚¥ÉÊ ‚ÍøË - ªÊŒ ‹ŸÊ

15. Which of the following would be the most appropriate developmental goal for a
worker working in a factory ?

(a) Better wages (b) Better technology

(c) More hours of work (d) More labour work

∑§Ê⁄UUπÊŸ ◊¥ ∑§Ê◊ ∑§⁄UŸ flÊ‹ ∞∑§ üÊÁ◊∑§ ∑§ Á‹∞ ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ‚flÊ¸Áœ∑§ ©¬ÿÈÄàÊ
Áfl∑§Ê‚Êà◊∑§ ‹ˇÿ „ÊªÊ?

(a) ’„Ã⁄U flÃŸ (b) ’„Ã⁄U Ã∑§ŸË∑§

(c) ∑§Ê◊ ∑§ •Áœ∑§ ÉÊ¥≈U (d) •Áœ∑§ ¬Á⁄UüÊ◊ flÊ‹Ê ∑§Êÿ¸

16. Rohit works in a hotel. He has regulated working hours and gets lunch at the hotel
everyday. He can also take paid leaves if he is unwell.  Of which of the following
sectors is he most likely to be an employee ?

(a) Agricultural Sector (b) Manufacturing Sector

(c) Organised Sector (d) Unorganised Sector

⁄UÊÁ„Ã „Ê≈U‹ ◊¥ ∑§Ê◊ ∑§⁄UÃÊ „Ò– ©‚∑§ ∑§Ê◊ ∑§⁄UŸ ∑§ ÁŸÿÃ ÉÊ¥≈U „¥Ò– ©‚∑§Ê πÊŸÊ ÷Ë „Ê≈U‹ ◊¥ Á◊‹ÃÊ „Ò–
SflÊSâÿ π⁄UÊ’ „ÊŸ ¬⁄U fl„ ‚flÒÃÁŸ∑§ •fl∑§Ê‡Ê ÷Ë ‹ ‚∑§ÃÊ „Ò– ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§‚ ̌ ÊòÊ∑§  ◊¥ ©‚∑§
∑§◊¸øÊ⁄UË „ÊŸ ∑§Ë ‚’‚ •Áœ∑§ ‚¥÷ÊflŸÊ „Ò?

(a) ∑Î§Á· ˇÊòÊ∑§ (b) ÁflÁŸ◊Ê¸áÊ ˇÊòÊ∑§

(c) ‚¥ªÁ∆UÃ ˇÊòÊ∑§ (d) •‚¥ªÁ∆UÃ ˇÊòÊ∑§

1
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17. Fill in the blank by choosing the most appropriate option-

Mahatma Gandhi National Rural Employment Guarantee Act-2005 has
guaranteed __________ days of work in a year in rural area, by the Government
to those willing to work.

(a) 365 (b) 100 (c) 50 (d) 180

‚flÊ¸Áœ∑§ ©¬ÿÈÄàÊ Áfl∑§À¬ øÈŸ∑§⁄U Á⁄UÄàÊ SÕÊŸ ∑§Ê ÷⁄¥U -

◊„Êà◊Ê ªÊ°œË ª˝Ê◊ËáÊ ⁄UÊ$¡ªÊ⁄U ªÊ⁄¥U≈UË •ÁœÁŸÿ◊-2005 ∑§ mÊ⁄UÊ ª˝Ê◊ËáÊ ̌ ÊòÊÊ¥ ◊¥ ∞∑§ fl·¸ ◊¥ __________

ÁŒŸ ∑§ ⁄UÊ$¡ªÊ⁄U ∑§Ë ªÊ⁄¥U≈UË ‚⁄U∑§Ê⁄U mÊ⁄UÊ ŒË ªß¸ „Ò ¡Ê ∑§Ê◊ ∑§⁄UŸ ∑§ ßë¿ÈU∑§ „Ò¥–

(a) 365 (b) 100 (c) 50 (d) 180

18. Consider the following statements with regard to demand deposits.  Select the
INCORRECT statement from the following.

(a) Demand deposits share the essential features of money.

(b) With demand deposit payments can be made without cash.

(c) Demand deposits are a safe way of money transaction.

(d) Demand deposit facility can be provided without having bank account.

◊Ê¥ª ¡◊Ê ∑§ ‚¥’¥œ ◊¥ ÁŸêŸÁ‹ÁπÃ ∑§ÕŸ ¬⁄U ÁfløÊ⁄U ∑§⁄U¥–  ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ª‹Ã ∑§ÕŸ ∑§Ê øÿŸ ∑§⁄U¥–

(a) ◊Ê¥ª ¡◊Ê ¬Ò‚ ∑§Ë •Êfl‡ÿ∑§ Áfl‡Ê·ÃÊ•Ê¥ ∑§Ê ‚Ê¤ÊÊ ∑§⁄UÃÊ „Ò–

(b) ◊Ê¥ª ¡◊Ê ∑§ ‚ÊÕ ÷ÈªÃÊŸ Ÿ∑§ŒË ∑§ Á’ŸÊ ÷Ë Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò–

(c) ◊Ê¥ª ¡◊Ê œŸ ¬Á⁄UflÃ¸Ÿ ∑§Ê ∞∑§ ‚È⁄UÁˇÊÃ Ã⁄UË∑§Ê „Ò–

(d) ◊Ê¥ª ¡◊Ê ‚ÈÁflœÊ Á’ŸÊ ’Ò¥∑§ πÊÃÊ πÊ‹ ¬˝ŒÊŸ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò–

19. Which of the following statements is an essential feature of barter system?

(a) Money can easily be used to buy any commodity or service.

(b) The barter system is based on the double coincidence of wants.

(c) The barter system promises payments at a later date than the day of
transaction.

(d) The barter system helps the people to buy and sell goods easily and quickly.

ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ ∑§ÊÒŸ ‚Ê ∑§ÕŸ flSÃÈ ÁflÁŸ◊ÿ ¬˝áÊÊ‹Ë ∑§Ë ∞∑§ •ÁŸflÊÿ¸ Áfl‡Ê·ÃÊ „Ò?

(a) Á∑§‚Ë ÷Ë flSÃÈ ÿÊ ‚flÊ ∑§Ê π⁄UËŒŸ ∑§ Á‹∞ ¬Ò‚ ∑§Ê ©¬ÿÊª •Ê‚ÊŸË ‚ Á∑§ÿÊ ¡Ê ‚∑§ÃÊ „Ò–

(b) flSÃÈ ÁflÁŸ◊ÿ ¬˝áÊÊ‹Ë •Êfl‡ÿ∑§ÃÊ•Ê¥ ∑§ ŒÊ„⁄U ‚¥ÿÊª ¬⁄U •ÊœÊÁ⁄UÃ „Ò–

(c) flSÃÈ ÁflÁŸ◊ÿ ¬˝áÊÊ‹Ë ‹Ÿ-ŒŸ ∑§Ë ÃÊ⁄UËπ ‚ ’ÊŒ ∑§Ë ÃÊ⁄UËπ ◊¥ ÷ÈªÃÊŸ ∑§Ê flÊŒÊ ∑§⁄UÃË „Ò–

(d) flSÃÈ ÁflÁŸ◊ÿ ¬˝áÊÊ‹Ë ‹ÊªÊ¥ ∑§Ê •Ê‚ÊŸË ‚ •ÊÒ⁄U ¡ÀŒË ‚ ‚Ê◊ÊŸ π⁄UËŒŸ •ÊÒ⁄U ’øŸ ◊¥ ◊ŒŒ ∑§⁄UÃË
„Ò–

1
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20. Removing barriers or restrictions on trade set by the government is called as -

(a) Globalisation (b) Privatisation

(c) Nationalisation (d) Liberalisation

‚⁄U∑§Ê⁄U mÊ⁄UÊ •fl⁄UÊœÊ¥ •ÕflÊ ¬˝ÁÃ’¥œÊ¥ ∑§Ê „≈UÊŸ ∑§Ë ¬˝Á∑˝§ÿÊ ∑§Ê ∑§„Ê ¡ÊÃÊ „Ò -

(a) flÒ‡flË∑§⁄UáÊ (b) ÁŸ¡Ë∑§⁄UáÊ

(c) ⁄UÊC˛Ëÿ∑§⁄UáÊ (d) ©ŒÊ⁄UË∑§⁄UáÊ

SECTION-B / πá«U-π

Very Short Answer Questions/•ÁÃ ‹ÉÊÈ ©ûÊ⁄UËÿ ¬˝‡Ÿ

21. Why traditional communities are involved in conserving their own natural habitats
in India ?  Analyse any two reasons of it.

÷Ê⁄UÃ ◊¥ •¬Ÿ ¬˝Ê∑Î§ÁÃ∑§ •ÊflÊ‚ ∑§ ‚¥⁄UˇÊáÊ ◊¥ SÕÊŸËÿ ‚◊ÈŒÊÿ ÄÿÊ¥ ‡ÊÊÁ◊‹ „Ò¥? Á∑§ã„Ë¥ ŒÊ ∑§Ê⁄UáÊÊ¥ ∑§Ê
Áfl‡‹·áÊ ∑§ËÁ¡∞–

22. Describe any two steps to promote the women’s representation in public life.

‚Êfl¸¡ÁŸ∑§ ¡ËflŸ ◊¥ ◊Á„‹Ê•Ê¥ ∑§Ë ÷ÊªËŒÊ⁄UË ∑§Ê ’…∏ÊŸ ∑§ Á‹∞ Á∑§∞ ¡ÊŸ flÊ‹ Á∑§ã„Ë¥ ŒÊ ©¬ÊÿÊ¥ ∑§Ë
√ÿÊÅÿÊ ∑§ËÁ¡∞–

23. (A) What were ‘Silk Routes’ ? What goods were exported and imported from
these routes ?

OR

(B) Why did the centre of world trade shift to Europe from China ?

(A) ⁄U‡Ê◊ ◊Êª¸ ÄÿÊ ÕÊ? ßŸ ◊ÊªÊ¸ ‚ Á∑§Ÿ flSÃÈ•Ê¥ ∑§Ê ÁŸÿÊ¸Ã •ÊÒ⁄U •ÊÿÊÃ Á∑§ÿÊ ¡ÊÃÊ ÕÊ?

•ÕflÊ

(B) Áfl‡fl √ÿÊ¬Ê⁄U ∑§Ê ∑§ãŒ˝ øËŸ ‚ ÿÍ⁄UÊ¬ ◊¥ ÄÿÊ¥ SÕÊŸÊ¥ÃÁ⁄UÃ „Ê ªÿÊ?

24. “Money in your pocket cannot buy all the goods and services that you may need
to live well.”  Justify the statement by giving two suitable examples.

““•Ê¬∑§Ë ¡’ ◊¥ ◊ÊÒ¡ÍŒ ¬Ò‚ ‚ fl ‚÷Ë ‚Ê◊ÊŸ •ÊÒ⁄U ‚flÊ∞° Ÿ„Ë¥ π⁄UËŒË ¡Ê ‚∑§ÃË Á¡Ÿ∑§Ë •Ê¬∑§Ê
¡ËflŸÿÊ¬Ÿ ∑§ Á‹∞ •Êfl‡ÿ∑§ÃÊ „Ê ‚∑§ÃË „Ò””–  ŒÊ ©¬ÿÈÄàÊ ©ŒÊ„⁄UáÊ Œ∑§⁄U ∑§ÕŸ ∑§Ë ¬ÈÁC ∑§ËÁ¡∞–

1

2x4=8
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SECTION-C / πá«U-ª

 Short Answer Questions/‹ÉÊÈ ©ûÊ⁄UËÿ ¬˝‡Ÿ

25. Why did Mahatma Gandhi find ‘Salt’ a powerful symbol that could unite the
nation ? Explain.

⁄UÊC˛ ∑§Ê ∞∑§¡È≈U ∑§⁄UŸ ◊¥ ◊„Êà◊Ê ªÊ¥œË ∑§Ê Ÿ◊∑§ ∞∑§ ‡ÊÊÁQ§‡ÊÊ‹Ë ¬˝ÃË∑§ ÄÿÊ¥ ‹ªÊ? √ÿÊÅÿÊ ∑§ËÁ¡∞–

26. (A) ‘Cheap and affordable credit is crucial for the country’s development’ . Justify
the statement with suitable arguments.

OR

(B) How does Reserve Bank of India plays crucial role in controlling the formal
sector loan ?

(A) “Œ‡Ê ∑§ Áfl∑§Ê‚ ∑§ Á‹∞ ‚SÃÊ •ÊÒ⁄U Á∑§»§ÊÿÃË ´§áÊ ◊„àfl¬ÍáÊ¸ „Ò–” ©ÁøÃ Ã∑§ÊZ mÊ⁄UÊ ∑§ÕŸ ∑§Ë ¬ÈÁC
∑§ËÁ¡∞–

•ÕflÊ

(B) •ÊÒ¬øÊÁ⁄U∑§ ˇÊòÊ ∑§ ´§áÊÊ¥ ∑§Ê ÁŸÿ¥ÁòÊÃ ∑§⁄Ÿ ◊¥ ÷Ê⁄UÃËÿ Á⁄U$¡fl¸ ’Ò¥∑§ Á∑§‚ ¬˝∑§Ê⁄U ◊„àfl¬ÍáÊ¸ ÷ÍÁ◊∑§Ê
ÁŸ÷ÊÃÊ „Ò?

27. Mention any three effects of noise pollution.

äflÁŸ ¬˝ŒÍ·áÊ ∑§ Á∑§ã„Ë¥ ÃËŸ ¬˝÷ÊflÊ¥ ∑§Ê ©À‹π ∑§ËÁ¡∞–

28. “In India women still lag behind men despite some improvement since
Independence”.  Evaluate the statement.

““SflÃ¥òÊÃÊ ∑§ ’ÊŒ ‚ ∑È§¿U ‚ÈœÊ⁄U ∑§ ’Êfl¡ÍŒ ÷Ê⁄UÃ ◊¥ ◊Á„‹Ê∞° •Ê¡ ÷Ë ¬ÈM§·Ê¥ ‚ ¬Ë¿U „Ò¥–”” ∑§ÕŸ ∑§Ê
◊ÍÀÿÊ¥∑§Ÿ ∑§ËÁ¡∞–

29. How are the powers divided between the state and the centre in India ?  Explain
with an example.

÷Ê⁄UÃ ◊¥ ⁄UÊíÿ •ÊÒ⁄U ∑§ãŒ˝ ∑§ ’Ëø ‡ÊÁQ§ÿÊ¥ ∑§Ê ’°≈UflÊ⁄UÊ Á∑§‚ ¬˝∑§Ê⁄U Á∑§ÿÊ ¡ÊÃÊ „Ò? ©ŒÊ„⁄UáÊ ‚Á„Ã
‚◊¤ÊÊ∞°–

3x5=15

3

3

3

3
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SECTION-D / πá«U-ÉÊ

Long Answer Questions/ ŒËÉÊ¸ ©ûÊ⁄UËÿ ¬˝‡Ÿ

30. (A) Explain the important provisions of Napoleon civil code of 1804.

OR

(B) ‘By the last quarter of the nineteenth century nationalism no longer retained
its idealistic liberal-democratic sentiments of the first half of the century.’
Analyse the statement in context of Balkan nationalism.

(A) Ÿ¬ÊÁ‹ÿŸ ∑§ 1804 ∑§ ŸÊªÁ⁄U∑§ ‚¥Á„ÃÊ ∑§ ¬˝◊Èπ ¬˝ÊflœÊŸÊ¥ ∑§Ê fláÊ¸Ÿ ∑§ËÁ¡∞–

•ÕflÊ

(B) “©ÛÊË‚flË¥ ‚ŒË ∑§Ë •¥ÁÃ◊ øÊÒÕÊß¸ Ã∑§ ⁄UÊC˛flÊŒ ∑§Ê fl„ •ÊŒ‡Ê¸flÊŒË ©ŒÊ⁄UflÊŒË-¡ŸÃÊ¥ÁòÊU∑§ Sfl÷Êfl
Ÿ„Ë¥ ⁄U„Ê ¡Ê ‚ŒË ∑§ ¬˝Õ◊ ÷Êª ◊¥ ÕÊ–”  ’ÊÀ∑§Ÿ ⁄UÊC˛flÊŒ ∑§ ‚¥Œ÷¸ ◊¥ ∑§ÕŸ ∑§Ê Áfl‡‹·áÊ ∑§ËÁ¡∞–

31. (A) In India, Coal is the most abundantly available fossil fuel. Describe its
formation and importance.

OR

(B) ‘Non-Conventional energy resources are the best option to conserve the
natural  Resources’.  Substantiate this statement with examples.

(A) ““÷Ê⁄UÃ ◊¥ ∑§Êÿ‹Ê ‚’‚ ¬˝øÈ⁄U ◊ÊòÊÊ ◊¥ ©¬‹éœ ¡ËflÊ‡◊ ß¥œŸ „Ò–””  ß‚∑§ ÁŸ◊Ê¸áÊ •ÊÒ⁄U ◊„àfl ∑§
’Ê⁄U ◊¥ Á‹π¥–

•ÕflÊ

(B) “¬˝Ê∑Î§ÁÃ∑§ ‚¥‚ÊœŸÊ¥ ∑§ ‚¥⁄UˇÊáÊ ∑§ Á‹∞ ™§¡Ê¸ ∑§ ªÒ⁄U-¬Ê⁄¥U¬Á⁄U∑§ dÊÃÊ¥ ∑§Ê ©¬ÿÊª ‚flÊ¸ûÊ◊ Áfl∑§À¬
„Ò¥–” ©ŒÊ„⁄UáÊ ‚Á„Ã ∑§ÕŸ ∑§Ë ¬ÈÁC ∑§ËÁ¡∞–

32. (A) Explain the functions of political parties in India.

OR

(B) Explain some of the recent efforts taken in our country to reform political
parties and its leaders. Describe the role of an ordinary citizen in reforming
the political parties ?

(A) ÷Ê⁄UÃ ◊¥ ⁄UÊ¡ŸËÁÃ∑§ Œ‹Ê¥ ∑§ ∑§ÊÿÊ¸ ∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞–

•ÕflÊ

(B) „◊Ê⁄U Œ‡Ê ◊¥ ⁄UÊ¡ŸËÁÃ∑§ Œ‹Ê¥ •ÊÒ⁄U ©‚∑§ ŸÃÊ•Ê¥ ◊¥ ‚ÈœÊ⁄U ∑§ Á‹∞ „Ê‹ „Ë ◊¥ Á∑§∞ ª∞ ∑È§¿U ¬˝ÿÊ‚Ê¥
∑§Ë √ÿÊÅÿÊ ∑§ËÁ¡∞– ⁄UÊ¡ŸËÁÃ∑§ Œ‹Ê¥ ∑§Ê ‚ÈœÊ⁄UŸ ◊¥ ∞∑§ ‚Ê◊Êãÿ ŸÊªÁ⁄U∑§ ∑§Ë ÄÿÊ ÷ÍÁ◊∑§Ê „Ò?
fláÊ¸Ÿ ∑§ËÁ¡∞–

5

2+3=5

5

5x4=20

5

3+2=5
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33. (A) ‘Tertiary Sector is becoming important in India’. Evaluate the statement.

OR

(B) Unemployment is a major problem in a country like India. Suggest ways for
generating employment opportunities both in rural and urban area.

(A) “÷Ê⁄UÃ ◊¥ ÃÎÃËÿ∑§ ˇÊòÊ ◊„àfl¬ÍáÊ¸ „ÊÃÊ ¡Ê ⁄U„Ê „Ò–” ∑§ÕŸ ∑§Ê ◊ÍÀÿ¥Ê∑§Ÿ ∑§ËÁ¡∞–

•ÕflÊ

(B) ÷Ê⁄UÃ ¡Ò‚ Œ‡Ê ◊¥ ’⁄UÊ¡ªÊ⁄UË ∞∑§ ’«∏Ë ‚◊SÿÊ „Ò– ª˝Ê◊ËáÊ •ÊÒ⁄U ‡Ê„⁄UË ̌ ÊòÊÊ¥ ◊¥ ⁄UÊ¡ªÊ⁄U ∑§ •fl‚⁄U ¬ÒŒÊ
∑§⁄UŸ ∑§ ©¬Êÿ ‚È¤ÊÊß∞–

SECTION-E /πá«U-æ§

Case study Based Questions / ∑§‚ •ÊœÊÁ⁄UÃ ¬˝‡Ÿ

34. Read the following passage and answer the following questions -

Multi-purpose projects and large dams have also been the cause of many new
environmental  movements like the ‘Narmada Bachao Andolan’ and the’Tehri
Dam Andolan’etc. Resistance to these projects has primarily been due to large-
scale displacement of local communities. Local people often had to give up their
land, livelihood and their meagre access and control over resources for the greater
good of the nation.  So, if the local people are not benefiting from such projects
then who is benefited?

Sardar Sarovar Dam has been built over the Narmada River in Gujarat. This is
one of the largest water resource projects of India covering four states ---
Maharashtra, Madhya Pradesh, Gujarat and Rajasthan. The Sardar Sarovar project
would meet the requirement of  water in drought- prone and desert areas of Gujarat
and Rajasthan.

Narmada Bachao Andolan or Save Narmada Movement is a Non Government

Organisation(NGO) that mobilised tribal people, farmers, environmentalists and

human rights activists against the Sardar Sarovar Dam being built across the

Narmada river in Gujarat. It originally focused on the environmental issues related

to trees that would be submerged under the dam water. Recently it has re-focused

the aim to enable poor citizens, especially the oustees (displaced people) to get full

rehabilitation facilities from the government.

(a) Analyse the reason of protest by the tribal people.

(b) What was the objective of building Sardar Sarovar Dam?

(c) Mention the two issues on which ‘Save Narmada movement’ worked on.

5

4x3=12

1

1

2
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ÁŒ∞ ª∞ ©Œ˜œ⁄UáÊ ∑§Ê ¬…∏¥ •ÊÒ⁄U ÁŸêŸÁ‹ÁπÃ ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U Œ¥ -
’„È©g‡ÊËÿ ¬Á⁄UÿÊ¡ŸÊ∞° •ÊÒ⁄U ’«∏ ’Ê°œ Ÿ∞ ¬ÿÊ¸fl⁄UáÊËÿ •Ê¥ŒÊ‹ŸÊ¥ ¡Ò‚-“Ÿ◊¸ŒÊ ’øÊ•Ê •Ê¥ŒÊ‹Ÿ”

•ÊÒ⁄U “Á≈U„⁄UË ’Ê°œ •ÊŒÊ‹Ÿ” ∑§ ∑§Ê⁄UáÊ ÷Ë ’Ÿ ª∞ „Ò¥– ßŸ ¬Á⁄UÿÊ¡ŸÊ•Ê¥ ∑§Ê Áfl⁄UÊœ ◊ÈÅÿ M§¬ ‚ SÕÊŸËÿ
‚◊ÈŒÊÿÊ¥ ∑§ flÎ„Œ SÃ⁄U ¬⁄U ÁflSÕÊ¬Ÿ ∑§ ∑§Ê⁄UáÊ „Ò– •Ê◊ÃÊÒ⁄U ¬⁄U SÕÊŸËÿ ‹ÊªÊ¥ ∑§Ê ©Ÿ∑§Ë ¡◊ËŸ, •Ê¡ËÁfl∑§Ê
•ÊÒ⁄U ‚¥‚ÊœŸÊ¥ ‚ ‹ªÊfl ∞fl¥ ÁŸÿ¥òÊáÊ Œ‡Ê ∑§Ë ’„Ã⁄UË ∑§ Á‹∞ ∑È§’Ê¸Ÿ ∑§⁄UŸÊ ¬«∏ÃÊ „Ò– ß‚Á‹∞, •ª⁄U
SÕÊŸËÿ ‹ÊªÊ ¥ ∑§Ê ßŸ ¬Á⁄UÿÊ¡ŸÊ•Ê¥ ∑§Ê ‹Ê÷ Ÿ„Ë¥ Á◊‹ ⁄U„Ê „Ò ÃÊ Á∑§‚∑§Ê Á◊‹ ⁄U„Ê „Ò?

‚⁄UŒÊ⁄U ‚⁄UÊfl⁄U-’Ê°œ ªÈ¡⁄UÊÃ ◊¥ Ÿ◊¸ŒÊ ŸŒË ¬⁄U ’ŸÊÿÊ ªÿÊ „Ò– ÿ„ ÷Ê⁄UÃ ∑§Ë ∞∑§ ’«∏Ë ¡‹ ‚¥‚ÊœŸ
¬Á⁄UÿÊ¡ŸÊ „Ò Á¡‚◊¥ øÊ⁄U ⁄UÊíÿ-◊„Ê⁄UÊC˛, ◊äÿ¬˝Œ‡Ê, ªÈ¡⁄UÊÃ ÃÕÊ ⁄UÊ¡SÕÊŸ ‚Áê◊Á‹Ã „Ò¥– ‚⁄UŒÊ⁄U  ‚⁄UÊfl⁄U
¬Á⁄UÿÊ¡ŸÊ ªÈ¡⁄UÊÃ ÃÕÊ ⁄UÊ¡SÕÊŸ ∑§ ‚ÍπÊ ª˝SÃ ÃÕÊ ◊M§SÕ‹Ëÿ ÷ÊªÊ¥ ∑§Ë ¡‹ ∑§Ê •Êfl‡ÿ∑§ÃÊ ∑§Ê ¬Í⁄UÊ
∑§⁄UªË–

Ÿ◊¸ŒÊ ’øÊ•Ê •Ê¥ŒÊ‹Ÿ ∞∑§ ªÒ⁄U ‚⁄U∑§Ê⁄UË ‚¥ª∆UŸ (∞Ÿ ¡Ë •Ê) „Ò ¡Ê ¡Ÿ¡ÊÃËÿ ‹ÊªÊ¥, Á∑§‚ÊŸÊ¥,
¬ÿÊ¸fl⁄UáÊÁflŒÊ¥ •ÊÒ⁄U ◊ÊŸflÊÁœ∑§Ê⁄U ∑§Êÿ¸∑§ÃÊ¸•Ê¥ ∑§Ê ªÈ¡⁄UÊÃ ◊¥ Ÿ◊¸ŒÊ ŸŒË ¬⁄U ‚⁄UŒÊ⁄U ‚⁄UÊfl⁄U ’Ê°œ ∑§ Áfl⁄UÊœ
◊¥ ‹Ê◊’¥Œ ∑§⁄UÃÊ „Ò– ◊Í‹ M§¬ ‚ ‡ÊÈM§ ◊¥ ÿ„ •Ê¥ŒÊ‹Ÿ ¡¥ª‹Ê¥ ∑§ ’Ê°œ ∑§ ¬ÊŸË ◊¥ «ÍU’Ÿ ¡Ò‚ ¬ÿÊ¸fl⁄UáÊËÿ
◊ÈgÊ¥ ¬⁄U ∑¥§ÁŒ˝Ã ÕÊ „Ê‹ „Ë ◊¥ ß‚ •Ê¥ŒÊ‹Ÿ ∑§Ê ‹ˇÿ ’Ê°œ ‚ ÁflSÕÊÁ¬Ã ª⁄UË’ ‹ÊªÊ¥ ∑§Ê ‚⁄U∑§Ê⁄U ‚ ‚¥¬ÍáÊ¸
¬ÈŸflÊ¸‚ ‚ÈÁflœÊ∞° ÁŒ‹ÊŸÊ „Ê ªÿÊ „Ò–
(a) ¡Ÿ¡ÊÃËÿ ‹ÊªÊ¥ ∑§ Áfl⁄UÊœ ∑§ ∑§Ê⁄UáÊÊ¥ ∑§Ê Áfl‡‹·áÊ ∑§⁄U¥–
(b) ‚⁄UŒÊ⁄U ‚⁄UÊfl⁄U ’Ê°œ Á∑§Ÿ ©g‡ÿÊ¥ ‚ ’ŸÊÿÊ ªÿÊ ÕÊ?
(c) ©Ÿ ŒÊ ◊ÈgÊ¥ ∑§Ê ©Ñπ ∑§ËÁ¡∞ Á¡Ÿ ¬⁄U “Ÿ◊¸ŒÊ ’øÊ•Ê •Ê¥ŒÊ‹Ÿ” Ÿ ∑§Ê◊ Á∑§ÿÊ–

35. Read the source given below and answer the questions that follow -

‘It is said of “ passive resistance” that it is the weapon of the weak, but the power
which is the subject of this article can be used only by the strong. This power is not
passive resistance; indeed it calls for intense activity. The movement in South
Africa was not passive but active...

‘Satyagraha is not physical force.  A satyagrahi does not inflict pain on the
adversary; he does not seek his destruction... In the use of satyagraha, there is no
ill-will whatever.

‘Satyagraha is pure soul-force. Truth is the very substance of the soul.  That is why
this force is called satyagraha.  The soul is informed with knowledge.  In it burns

the flame of love... Nonviolence is the supreme dharma...

‘It is certain that India cannot rival Britain or Europe  in force of arms.  The British
worship the war-god and they can all of them become, as they are becoming,
bearers of arms.’

(a) Why did Gandhiji consider non violence as supreme dharma ? 1

(b) How was Gandhian Satyagraha taken by the people who believed in his
philosophy ?

(c) Why was Gandhian Satyagraha considered a novel way to resist injustice ?

1

2
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ÁŒ∞ ª∞ ©Œ˜œ⁄UáÊ ∑§Ê ¬…∏ •ÊÒ⁄U ÁŸêŸÁ‹ÁπÃ ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U Œ-

∑§„Ê ¡ÊÃÊ „Ò Á∑§ “ ÁŸÁc∑˝§ÿ ¬˝ÁÃ⁄UÊœ “ ŒÈ’¸‹Ê¥ ∑§Ê „ÁÕÿÊ⁄U „Ò– ‹Á∑§Ÿ ß‚ ‹π ◊¥ Á¡‚ ‡ÊÁQ§ ∑§Ë ’ÊÃ ∑§Ë
ªß¸ „Ò ©‚ ∑§fl‹ ÃÊ∑§Ãfl⁄U „Ë ßSÃ◊Ê‹ ∑§⁄U ‚∑§Ã „Ò¥– ÿ„ ÁŸÁc∑˝§ÿ ¬˝ÁÃ⁄UÊœ ∑§Ë ‡ÊÁQ§ Ÿ„Ë¥ „Ò; ß‚∑§ Á‹∞
ÃÊ ‚œŸ ‚Á∑˝§ÿÃÊ øÊÁ„∞– ŒÁˇÊáÊ •$»˝§Ë∑§Ê ∑§Ê •Ê¥ŒÊ‹Ÿ ÁŸÁc∑˝§ÿ Ÿ„Ë¥ ’ÁÀ∑§ ‚Á∑˝§ÿ •Ê¥ŒÊ‹Ÿ ÕÊ...–

“‚àÿÊª˝„ ‡ÊÊ⁄UËÁ⁄U∑§ ’‹ Ÿ„Ë¥ „Ò– ‚àÿÊª˝„Ë •¬Ÿ ‡ÊòÊÈ ∑§Ê ∑§C Ÿ„Ë¥ ¬„È°øÊÃÊ; fl„ •¬Ÿ ‡ÊòÊÈ ∑§Ê ÁflŸÊ‡Ê Ÿ„Ë¥
øÊ„ÃÊ– ... ‚àÿÊª˝„ ∑§ ¬˝ÿÊª ◊¥ ŒÈ÷Ê¸flŸÊ ∑§ Á‹∞ ∑§Êß¸ SÕÊŸ Ÿ„Ë¥ „ÊÃÊ– “‚àÿÊª˝„ ÃÊ ‡ÊÈh •Êà◊’‹ „Ò–
‚àÿ „Ë •Êà◊Ê ∑§Ê •ÊœÊ⁄U „ÊÃÊ „Ò– ß‚ËÁ‹∞ ß‚ ’‹ ∑§Ê ‚àÿÊª˝„ ∑§Ê ŸÊ◊ ÁŒÿÊ ªÿÊ „Ò– •Êà◊Ê ôÊÊŸ ‚
„◊‡ÊÊ ‹Ò‚ „ÊÃË „Ò– ß‚◊¥ åÿÊ⁄U ∑§Ë ‹ÊÒ ¡‹ÃË „Ò...– •Á„¥‚Ê ‚flÊ¸ìÊ œ◊¸ „Ò......–

“ ß‚◊¥ ∑§Êß¸ ‚¥Œ„ Ÿ„Ë¥ Á∑§ ÷Ê⁄UÃ ÁflŸÊ‡Ê∑§Ê⁄UË ‡ÊSòÊÊ¥ ∑§ ◊Ê◊‹ ◊¥ Á’˝≈UUŸ ÿÊ ÿÍ⁄UÊ¬ ∑§Ê ◊È∑§Ê’‹Ê Ÿ„Ë¥ ∑§⁄U
‚∑§ÃÊ– •¥ª˝¡ ÿÈh ∑§ ŒflÃÊ ∑§Ë ©¬Ê‚ŸÊ ∑§⁄UÃ „¥Ò– fl ‚’ „ÁÕÿÊ⁄UÊ¥ ‚ ‹Ò‚ „Ê ‚∑§Ã „Ò¥, „ÊÃ ¡Ê  ⁄U„ „Ò¥–
÷Ê⁄UÃ ◊¥ ∑§⁄UÊ«∏Ê¥ ‹Êª ∑§÷Ë „ÁÕÿÊ⁄U ‹∑§⁄U Ÿ„Ë¥ ø‹ ‚∑§Ã– ©ã„Ê¥Ÿ •Á„¥‚Ê ∑§ œ◊¸ ∑§Ê •Êà◊‚ÊûÊ˜ ∑§⁄U Á‹ÿÊ
„Ò.....–”

(a) ªÊ¥œË¡Ë Ÿ •Á„¥‚Ê ∑§Ê ¬⁄U◊ œ◊¸ ÄÿÊ¥ ◊ÊŸÊ?

(b) ªÊ¥œËflÊŒË ‚àÿÊª˝„ ∑§Ê ©Ÿ∑§ Œ‡Ê¸Ÿ ◊¥ Áfl‡flÊ‚ ∑§⁄UŸ flÊ‹ ‹ÊªÊ¥ Ÿ Á∑§‚ ¬˝∑§Ê⁄U •¬ŸÊÿÊ?

(c) ªÊ¥œËflÊŒË ∑§ ‚àÿÊª˝„ ∑§Ê •ãÿÊÿ ∑§Ê Áfl⁄UÊœ ∑§⁄UŸ ∑§Ê ∞∑§ •ŸÊπÊ Ã⁄UË∑§Ê ÄÿÊ¥ ◊ÊŸÊ ªÿÊ?

36. Read the source given below and answer the questions that follow-

Tax on imports is an example of trade barrier. It is called a barrier because some
restriction has been set up. Governments can use trade barriers to increase or
decrease (regulate) foreign trade and to decide what kinds of goods and how much
of each, should come  into the country. The Indian government, after Independence,
had put barriers to foreign trade and foreign investment. This was considered
necessary to protect the producers within the country from foreign competition.
Industries were just coming up in the 1950s and 1960s, and competition from
imports at that stage would not have  allowed these industries to come up.  Thus,
India allowed imports of only essential items such as machinery, fertilisers,
petroleum etc. Note that all developed countries, during the early stages of
development, have given protection to domestic producers through a variety of
means.

(a) Why is tax on imports called trade barrier ?

(b) How are trade barriers used by the government ?

(c) Why did the Indian Government put barriers on foreign trade and foreign
investment  just after Independence ?

1

1

2
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ÁŒ∞ ªÿ ©Œ˜œ⁄UáÊ ∑§Ê ¬…∏¥ •ÊÒ⁄U ÁŸêŸÁ‹ÁπÃ ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U Œ-

•ÊÿÊÃ ¬⁄U ∑§⁄U, √ÿÊ¬Ê⁄U •fl⁄UÊœ∑§ ∑§Ê ∞∑§ ©ŒÊ„⁄UáÊ „Ò– ß‚ •fl⁄UÊœ∑§ ß‚Á‹∞ ∑§„Ê ªÿÊ „Ò, ÄÿÊ¥Á∑§ ÿ„
∑È§¿U ¬˝ÁÃ’¥œ ‹ªÊÃÊ „Ò– ‚⁄U∑§Ê⁄¥U √ÿÊ¬Ê⁄U •fl⁄UÊœ∑§ ∑§Ê ¬˝ÿÊª ÁflŒ‡Ê √ÿÊ¬Ê⁄U ◊¥ flÎÁh ÿÊ ∑§≈UÊÒÃË (ÁŸÿÁ◊Ã
∑§⁄UŸ) ∑§⁄UŸ •ÊÒ⁄U Œ‡Ê ◊¥ Á∑§‚ ¬˝∑§Ê⁄U ∑§Ë flSÃÈ∞° Á∑§ÃŸË ◊ÊòÊÊ ◊¥ •ÊÿÊÁÃÃ „ÊŸË øÊÁ„∞, ÿ„ ÁŸáÊ¸ÿ ∑§⁄UŸ
∑§ Á‹∞ ∑§⁄U ‚∑§ÃË „Ò¥–

SflÃ¥òÊÃÊ ∑§ ’ÊŒ ÷Ê⁄UÃ ‚⁄U∑§Ê⁄U Ÿ ÁflŒ‡Ê √ÿÊ¬Ê⁄U ∞fl¥ ÁflŒ‡ÊË ÁŸfl‡Ê ¬⁄U ¬˝ÁÃ’¥œ ‹ªÊ ⁄UπÊ ÕÊ– Œ‡Ê ∑§
©à¬ÊŒ∑§Ê¥ ∑§Ê ÁflŒ‡ÊË ¬˝ÁÃS¬œÊ¸ ‚ ‚¥⁄UˇÊáÊ ¬˝ŒÊŸ ∑§⁄UŸ ∑§ Á‹∞ ÿ„ •ÁŸflÊÿ¸ ◊ÊŸÊ ªÿÊ–  1950 •ÊÒ⁄U 1960

∑§ Œ‡Ê∑§Ê¥ ◊¥ ©lÊ¥ªÊ¥ ∑§Ê ©Œÿ „Ê ⁄U„Ê ÕÊ •ÊÒ⁄U ß‚ •flSÕÊ ◊¥ •ÊÿÊÃ ‚ ¬˝ÁÃS¬œÊ¸ ßŸ ©lÊªÊ¥ ∑§Ê ’…∏Ÿ Ÿ„Ë¥
ŒÃË– ß‚ËÁ‹∞ ÷Ê⁄UÃ Ÿ ∑§fl‹ •ÁŸflÊÿ¸ øË¡Ê¥ ¡Ò‚, ◊‡ÊËŸ⁄UË, ©fl¸⁄U∑§ •ÊÒ⁄U ¬≈˛UÊÁ‹ÿ◊ ∑§ •ÊÿÊÃ ∑§Ë „Ë
•ŸÈ◊ÁÃ ŒË– äÿÊŸ ŒËÁ¡∞ Á∑§ ‚÷Ë Áfl∑§Á‚Ã Œ‡ÊÊ¥ Ÿ Áfl∑§Ê‚ ∑§ ¬˝Ê⁄¥UÁ÷∑§ ø⁄UáÊÊ¥ ◊¥ ÉÊ⁄U‹Í ©à¬ÊŒ∑§Ê¥ ∑§Ê
ÁflÁ÷ÛÊ Ã⁄UË∑§Ê¥ ‚ ‚¥⁄UˇÊáÊ ÁŒÿÊ „Ò–

(a) •ÊÿÊÃ ¬⁄U ∑§⁄U √ÿÊ¬Ê⁄U •fl⁄UÊœ∑§ ÄÿÊ¥ „Ò?

(b) ‚⁄U∑§Ê⁄U √ÿÊ¬Ê⁄U •fl⁄UÊœ∑§Ê¥ ∑§Ê Á∑§‚ ¬˝∑§Ê⁄U ¬˝ÿÊª ∑§⁄UÃË „Ò?

(c) SflÃ¥òÊÃÊ ∑§ ¬‡øÊÃ ÷Ê⁄UÃ ‚⁄U∑§Ê⁄U Ÿ ÁflŒ‡ÊË √ÿÊ¬Ê⁄U ∞fl¥ ÁflŒ‡ÊË ÁŸfl‡Ê ¬⁄U ¬˝ÁÃ’¥œ ÄÿÊ¥ ‹ªÊÿÊ ÕÊ?

SECTION - F/ πá«U - ø

Map Skill Based Question/◊ÊŸÁøòÊ ∑§ÊÒ‡Ê‹ •ÊœÊÁ⁄UÃ ¬˝‡Ÿ

37. (A) Two features (A) and (B) are marked on the given outline political map of
India. Identify  these features with the help of the following information and
write  their correct  names on the lines marked near them.

(a) The place where Mahatma Gandhi Ji broke salt law.

(b) The Place Where Indian National Congress Session was held in 1927.

(B) On the given outline political map of India, locate and label ANY THREE of
the following with suitable symbols.

(i) Hirakud Dam

(ii) Netaji Subhash Chandra Bose Airport

(iii) Vishakhapatnam Sea port

(iv)  Narora Nuclear Power Plant

(A) ÷Ê⁄UÃ ∑§ ⁄UÊ¡ŸËÁÃ∑§ ⁄UπÊ◊ÊŸÁøòÊ ¬⁄U ŒÊ SÕÊŸ (A) •ÊÒ⁄ U(B) •¥Á∑§Ã Á∑§∞ ª∞ „Ò¥– ŸËø ŒË ªß¸
¡ÊŸ∑§Ê⁄UË ∑§ •ÊœÊ⁄U ¬⁄U ßŸ∑§Ë ¬„øÊŸ ∑§ËÁ¡∞ ∞fl¥ ©Ÿ∑§ ‚„Ë ŸÊ◊ ©Ÿ∑§ ‚◊Ë¬ πË¥øË ªß¸ ⁄UπÊ•Ê¥
¬⁄U Á‹Áπ∞ —

(a) fl„ SÕÊŸ ¡„Ê° ◊„Êà◊Ê ªÊ°œË¡Ë Ÿ Ÿ◊∑§ ∑§ÊŸÍŸ ÃÊ«∏Ê ÕÊ–

(b) fl„ SÕÊŸ ¡„Ê° 1927 ◊¥ ÷Ê⁄UÃËÿ ⁄UÊC˛Ëÿ ∑§Ê¥ª˝‚ ∑§Ê •Áœfl‡ÊŸ „È•Ê ÕÊ–

5
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(B) ÷Ê⁄UÃ ∑§ ©‚Ë ⁄UπÊ◊ÊŸÁøòÊ ¬⁄U ÁŸêŸÁ‹ÁπÃ ◊¥ ‚ Á∑§ã„Ë¥ ÃËŸ ∑§Ê ©¬ÿÈÄàÊ ÁøòÊÊ¥ ‚ Œ‡ÊÊ¸ß∞ •ÊÒ⁄U
©Ÿ∑§ ŸÊ◊ Á‹Áπ∞ —

(i) „Ë⁄UÊ∑È¥§«U ’Ê°œ

(ii) ŸÃÊ¡Ë ‚È÷Ê·ø¥Œ˝ ’Ê‚ •¥Ã⁄UÊ¸C˛Ëÿ „flÊß¸ ¬ûÊŸ

(iii) Áfl‡ÊÊπÊ¬ûÊŸ◊ ‚◊ÈŒ˝Ë ¬ûÊŸ

(iv) Ÿ⁄UÊ⁄UÊ •ÊÁáfl∑§ ™§¡Ê¸ ∑¥§Œ˝

Note : The following questions are for visually impaired candidates only in lieu
of Q.No.37. Attempt any five Questions.

(37.1) Name the place where Mahatma Gandhiji broke Salt Law.

(37.2) Name the place where the session of Indian National Congress took place
in 1927.

(37.3) Name the state/Union Territory where Hirakud dam is located.

(37.4) Name the state/Union Territory where Netaji Subhash Chandra Bose
International Airport is located.

(37.5) Name the state/Union Territory where Vishakapatnam sea port is
located.

(37.6) Name the state/Union Territory where Narora Nuclear Power Plant is
located.

ŸÊ≈U — ÁŸêŸÁ‹ÁπÃ ¬˝‡Ÿ ∑§fl‹ ŒÎÁC’ÊÁœÃ, ¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ¬˝‡Ÿ ‚¥ÅÿÊ 37 ∑§ SÕÊŸ ¬⁄U „Ò–
Á∑§ã„Ë¥ ¬Ê°ø ¬˝‡ŸÊ¥ ∑§ ©ûÊ⁄U Á‹Áπ∞–

(37.1) fl„ SÕÊŸ ¡„Ê° ◊„Êà◊Ê ªÊ°œË ¡Ë Ÿ Ÿ◊∑§ ∑§ÊŸÍŸ ÃÊ«∏Ê ÕÊ–

(37.2) fl„ SÕÊŸ ¡„Ê° 1927 ◊¥ ÷Ê⁄UÃËÿ ⁄UÊC˛Ëÿ ∑§Ê¥ª˝‚ ∑§Ê •Áœfl‡ÊŸ „È•Ê ÕÊ–

(37.3) ©‚ ⁄UÊíÿ/∑¥§Œ˝ ‡ÊÊÁ‚Ã ¬˝Œ‡Ê ∑§Ê ŸÊ◊ Á‹Áπ∞ ¡„Ê° „Ë⁄UÊ∑È¥§«U ’Ê°œ •flÁSÕÃ „Ò–

(37.4) ©‚ ⁄UÊíÿ/∑¥§Œ˝ ‡ÊÊÁ‚Ã ¬˝Œ‡Ê ∑§Ê ŸÊ◊ Á‹Áπ∞ ¡„Ê° ŸÃÊ¡Ë ‚È÷Ê·ø¥Œ˝ ’Ê‚ •¥Ã⁄UÊ¸C˛Ëÿ „flÊß¸
¬ÃŸ •flÁSÕÃ „Ò–

(37.5) ©‚ ⁄UÊíÿ/∑¥§Œ˝ ‡ÊÊÁ‚Ã ¬˝Œ‡Ê ∑§Ê ŸÊ◊ Á‹Áπ∞ ¡„Ê° Áfl‡ÊÊπÊ¬ûÊŸ◊ ‚◊ÈŒ˝Ë ¬ûÊŸ •flÁSÕÃ „Ò–

(37.6) ©‚ ⁄UÊíÿ/∑¥§Œ˝ ‡ÊÊÁ‚Ã ¬˝Œ‡Ê ∑§Ê ŸÊ◊ Á‹Áπ∞ ¡„Ê° Ÿ⁄UÊ⁄UÊ •ÊÁáfl∑§ ™§¡Ê¸ ∑¥§Œ˝ •flÁSÕÃ „Ò–

1

1

1

1

1

1
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Map for Q.No. 37 (A) & (B)

✄

✄

Outline Map of India (Political)

Roll No.

•ŸÈ∑̋§◊Ê¥∑§
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